
SAP ABAP table RCF_S_LIST_ACTIVITIES_X {Activity incl. Additional Information}

RCF_S_LIST_ACTIVITIES_X

ACT_TYPE [CHAR (4)]

RES_SCLAS [CHAR (2)]

ACT_CAT [NUMC (2)]

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]
 RCF_S_LIST_ACTIVITIES_X-RES_SCLAS = T778O-OTYPE 0..N

0..N
T77RCF_ACT_CAT

MANDT [CLNT (3)]

ACT_CAT [NUMC (2)]

 RCF_S_LIST_ACTIVITIES_X-ACT_CAT = T77RCF_ACT_CAT-ACT_CAT 
0..N0..N

T77RCF_ACT_TYPE

MANDT [CLNT (3)]

ACT_TYPE [CHAR (4)]

 RCF_S_LIST_ACTIVITIES_X-ACT_TYPE = T77RCF_ACT_TYPE-ACT_TYPE 

0..N

0..N


